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QUESTION 1

You are setting up a scheduler profile for a manager, but you cannot find this manager in the Group Manager list.

What are three reasons for this?

A. This manager is not identified as a Line Manager in his HR record.

B. This manager\\'s hire date is later than the scheduler profile effective start date.

C. You didn\\'t run the Refresh Manager Hierarchy job.

D. This manager doesn\\'t have the Time and Labor Manager role.

Correct Answer: BCD

The Refresh Manager Hierarchy process populates the denormalized manager hierarchy table when person records are
migrated from other applications. Otherwise, whenever a change is made to a person\\'s manager hierarchy, the change
is reflected automatically in the denormalized manager hierarchy table. However, by running the Refresh Manager

Hierarchy process in addition to these automatic individual updates, you can ensure that the denormalized manager
hierarchy is as accurate as possible. Refresh Manager Hierarchy processes all types of manager hierarchies.

QUESTION 2
How should you enable population of the Supplier Device Event list of values in mappings?
A. By defining a value set to list the supplier events

B. By defining the value of the supplier in the TCD suppliers lookup first, and then the values of the supplier events in
the TCD Supplier Events lookup

C. By defining the values in the TCD Supplier Events lookup only
D. By doing nothing. The list of events is defaulted with one In event and one Out event.
Correct Answer: B

https://docs.oracle.com/en/cloud/saas/global-human-resources/r13-update17d/faitl/time-collection-
deviceconfigurations.html#FAITL1784382

QUESTION 3

When should you execute the Time and Labor ?Generate Data Dictionary Time Attributes process if you are
implementing only Oracle Project Costing?

A. Every day
B. When new projects and tasks are created for use in Time and Labor

C. Never; not required to run the Generate Data Dictionary Time Attributes process when implementing Oracle Project
Costing

Latest 120-1048 Dumps | 120-1048 PDF Dumps | 1Z20-1048 Exam Questions 2/3


https://www.passapply.com/1z0-1048.html
https://www.passapply.com/1z0-1048.html
https://www.passapply.com/1z0-1048.html

VCE & PDF https://lwww.passapply.com/1z0-1048.html
2024 Latest passapply 1Z0-1048 PDF and VCE dumps Download
PassApply.com

D. Always before accessing the Manage Time Entry Layout Components setup task
E. When implementing Time and Labor for the first time
Correct Answer: B

https://docs.oracle.com/cloud/farel12/globalcs_gs/FAITL/FAITL1657304.htm#FAITL1657304

QUESTION 4

Your customer wants to define a new time card field. Which option includes the complete list of valid data sources?
A. PVO, Independent value set, dependent value set, table defined value set, subset value set

B. Independent value set

C. PVO, independent value set, table defined value set

D. PVO only

Correct Answer: C

QUESTION 5

The Workforce Management business process contains which shard components?
A. Repeating Time Periods, Time Repository, Data Dictionary

B. Repeating Time Periods, Time Repository, Time Attributes

C. Repeating Time Periods, Time Repository, Data Dictionary, Time Consumers
D. Repeating Time Periods, Time Repository, Time Attributes, Time Consumers

Correct Answer: D
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